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Round each number to the nearest 1000 as you race around the track. 
Who will be the first to complete the track correctly?

Round each number to the nearest 1000 as you race around the track. 
Who will be the first to complete the track correctly?



75 000 8000

75 000 8000

Rounding to the Nearest 1000 - Racer 1 

Rounding to the Nearest 1000 - Racer 2 

Maths | Year 4 | Number and Place Value | Rounding | Lesson 3 of 5: Rounding Racetrack

Maths | Year 4 | Number and Place Value | Rounding | Lesson 3 of 5: Rounding Racetrack

43 000

43 000

5000

5000

ST
AR

T
ST

AR
T

27 000

27 000

5000

5000

49 000

49 000

18 000

18 000

4000

4000

12 000

12 000

56 000

56 000

83 000

83 000

38 000

38 000

84 000

84 000

For each question, think of 3 four or five-digit numbers that will round to the given number 
when rounding to the nearest 1000. Who will be the first to complete the track correctly?

For each question, think of 3 four or five-digit numbers that will round to the given number 
when rounding to the nearest 1000. Who will be the first to complete the track correctly?
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Rounding to the Nearest 1000 Answers

Question Answer

Round each number to the nearest 1000 as you race 
around the track. Who will be the first to complete 
the track correctly?

75 387 75 000

8263 8000

56 534 57 000

49 827 50 000

5585 6000

18 472 18 000

84 731 85 000

Question Answer

For each question, think of 3 four or five-digit 
numbers that will round to the given number when 
rounding to the nearest 1000. Who will be the first 
to complete the track correctly?

75 000 Various answers

8000 Various answers

56 000 Various answers

49 000 Various answers

5000 Various answers

18 000 Various answers

84 000 Various answers
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38 493 38 000

83 382 83 000

43 958 44 000

4598 5000

27 484 27 000

12 485 12 000

5925 6000

38 000 Various answers

83 000 Various answers

43 000 Various answers

4000 Various answers

27 000 Various answers

12 000 Various answers

5000 Various answers



Question Answer

Answer the questions as you race around the track. 
Who will be the first to complete the track correctly?

Give an example of a five-digit number which 
rounds to the same number when rounding to the 
nearest 100 and 1000. 

Multiple answers

Write 3 different numbers that will round to 
94 000.

Multiple answers

A number rounded to the nearest 1000 is 44 000. 
What is the smallest possible number it could be? 

43 500

Circle the number closer to 3000. 
2297  3004

3004

Write 3 numbers that will round to 10 000. Each 
number must include the digit 5 and it must be in 
a different value place in each number.

Multiple answers

Complete the calculation and then round the 
answer to the nearest 1000. 684 + 978 =

1662  
The nearest 1000 is 2000

A number rounded to the nearest 1000 is 72 000. 
What is the largest possible number it could be? 

72 499

Write 3 numbers that will round to 47 000. Each 
number must have the digit 9 and it must be in a 
different value place in each number.

Multiple answers

A number rounded to the nearest 1000 is 59 000. 
What is the largest possible number it could be? 

59 499

Write 3 different numbers that will round to 
74 000.

Multiple answers

Complete the calculation and then round the 
answer to the nearest 1000. 1372 + 9581 =

10 953 
The nearest 1000 is 11 000

Circle the number closer to 9000. 
8799  9047

9047
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